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Forma pftijimaci zkousky: pisemna
Test z Anglického jazyka a literatury - varianta A

Uplné zadani ZkuSebnich otazek ¢i prikladu, které jsou soucasti piijimaci zkousky nebo
jeji Casti a u otdzek s vybérem odpovédi spravné feSeni.

Cast | — Test jazykové kompetence (70 bodi)

South Korea: North Korea Tests Missile But Fails

President Donald Trump has vocally condemned the country’s nuclear program.

(1) North Korean missile launch attempt on (2) Sunday has resulted in failure,
according to South Korea’s military.

“ (3) North attempted to launch (4) unidentified missile from near (5) Sinpo
region this morning but it is suspected to have failed,” South Korea’s Office of the Joint Chiefs of Staff
said in (6) statement, according to Reuters. “ (7) missile blew up almost immediately,”
the U.S. Pacific Command said in (8) press release, adding that “the type of missile is still
being assessed.”

Secretary of Defense Jim Mattis said that president was aware of the test launch but was not giving
further comments. Vice President Mike Pence, who will kick off a 10-day trip to Asia in Seoul, South
Korea on Sunday, was also briefed within one hour of his departure.

Timed one day after the 105th anniversary of the birth of Kim Il Sung, the country’s founder and the
grandfather of current Supreme Leader Kim Jong Un, the failed launch represents yet another act
that increases tension between North Korea and the U.S.
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North Korea’s government held a parade Saturday, showing off two new intercontinental ballistic
missiles, a submarine-launched ballistic missile and a land-based missile.

President Donald Trump has taken a more aggressive stance against North Korea and has intensified
his calls to “solve” problems with the country. The U.S. sent a Navy strike group to the Korean
Peninsula earlier this week.

North Korea has stated that it is prepared to respond in turn. “Our revolutionary strong army is
keenly watching every move by enemy elements with our nuclear sight focused on the U.S.
invasionary bases not only in South Korea and the Pacific operation theater but also in the U.S.
mainland,” state-run newspaper Rodong Sinmun said.

Trump has appealed to China, one of North Korea’s few allies, to play a greater role in thwarting the
threat. The president made it clear that he would welcome Beijing’s help but has warned that he’s
prepared to act alone.

(Source: The World Post)

I. Peclivé proctéte vyse uvedeny text a rozhodnéte, zda jsou nasledujici tvrzeni pravdiva (P) nebo

nepravdiva (N). (3 body)
1 The failure of the missile took place a long time after its takeoff. P/N
2 President Trump did not know about the launch. P/N
3 Trump wants China to be more active in acting against North Korea. P/N

Il. Doplrite dle uvaZeni élen neuréity (a/an), uréity (the) nebo nulovy (0). Nevyplnéné pole je
automaticky povaZovano za nespravnou odpovéd. (8 bodui)

(1) North Korean missile launch attempt on (2) Sunday has resulted in failure,
according to South Korea’s military.

“ (3) North attempted to launch (4) unidentified missile from near (5) Sinpo
region this morning but it is suspected to have failed,” South Korea’s Office of the Joint Chiefs of Staff
said in (6) statement, according to Reuters. “ (7) missile blew up almost immediately,”
the U.S. Pacific Command said in (8) press release, adding that “the type of missile is still
being assessed.”

Ill. Doplnite slova opacného vyznamu — bud’ antonyma (napt. good — bad), nebo opozita odvozena
zapornymi pfedponami nebo pfiponami (napf. possible — impossible). Pouzijte vhodné vyrazy z nize
uvedené nabidky. (5 bodui)

1) failure —

2) aware-—

3) submarine —

4) keenly—
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5) alone —

success — attempt — lifelessly — result — undermarine — unaware — awareless — beware — unkeenly —
enthusiastically — together — surface — mutual - acquaintance — aggressive

IV. Pfreformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit trpny rod. (2 body)

V.

VI.

VII.

President Donald Trump has vocally condemned the country’s nuclear program.

Pfreformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit ¢inny rod. Je-li tfeba, vyuzijte
vhodnych vyrazii z textu (véta je zvyraznéna tuénym pismem). (2 body)

The type of missile is still being assessed.

PreloZte nasledujici véty do cCestiny; berte pfitom v tGvahu jejich kontext (véty jsou podtrzeny v
tuvodnim textu). (4 body)

Vice President Mike Pence, who will kick off a 10-day trip to Asia in Seoul, South Korea on Sunday,
was also briefed within one hour of his departure.

President Donald Trump has taken a more aggressive stance against North Korea and has
intensified his calls to “solve” problems with the country.

Doplnte druhou vétu ve dvojici tak, aby méla v textu stejny, nebo témér stejny vyznam jako

véta prvni. Pouzijte dany vyraz, aniz byste zmeénili jeho tvar. (12 bod()
1) The traffic was so bad that we missed the flight. SUCH

2) It would be a good idea if you went to the dentist. BETTER

You
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3) Iltis likely that she has been going through a difficult time. MUST
She
4) Peter took me to the station in his car. LIFT
Peter
5) John is going to speak at the conference. GIVE
John
6) | used to ride a motorbike, but | don’t anymore. LONGER
I
VIII. Dopliite vhodna slova do textu (vZdy pouze 1 slovo) (8 bodui)

My early driving experience

I'd (1) taking lessons (2) a year before | passed my driving test at the
age of eighteen, but my dad never gave me (3) help. Even after I'd passed he never
let (4) use the car. So | used to take my dad's keys before leaving the apartment block
(5) we lived and would run round to the car park at the back where my father left the
car (6) night. He hardly ever used the car after getting in from work. | (7)
to go and see my girlfriend or just drive around and then come back and leave the
car in exactly the same place. One night though, | got back at (8) ten thirty only to

find there were no parking spaces left. | suppose because | went in and told my dad the truth straight
away he was quite good about it. Although he did stop my allowance for four weeks.

IX. Dopliite spravny tvar slovesa v zavorce. (8 bodu)
Much research (1) (do) by supermarket chains (2)
(find out) how (3)

(persuade) shoppers (4) (buy) more. Supermarkets (5)

(arrange) to take advantage of the people shopping in them —
for example by (6) (put) sweets at the check outs in racks at
children’s eye-level. In general, you (7) (be likely, spend) less
shopping if you (8) (leave) the children behind.
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X. Vytvorte nova slova z vyrazli v zavorce — pouliijte pFipony a predpony (vypliite vidy pouze 1
slovo). (8 bodu)

A knee injury

My brother hurt his knee in a skiing 1) (compete) recently. He didn’t think it was
serious at the time but it soon began to affect his 2) (able) to walk properly and he
complained of 3) (stiff) in his leg. It slowly got worse and he eventually had to go
into hospital for an 4) (operate). He's resting at home now and the doctors say that
in the 5) (major) of cases like this, as long as there are no 6)
(complicate), people are able to resume their normal 7) (active) within a few
weeks. They gave him a few gentle exercises to do and he’s already beginning to notice an 8)
(improve).

XI. Vyberte spravnou moznost. Mozné je vidy pouze jedno feseni. (10 boda)

Life in the Rainforest

It is 1) that over 50% of the world's 2) of plants and animals are
3) in the rainforest. Amazingly, only 6 - 7% of the 4) land surface on
Earth is covered by rainforest. 5) average, there are 6) 20 and 80
different species of trees per acre. There is also a wide variety of animal life found in the rainforest.
Many of the animals have special adaptations that 7) them to live in the tropical
conditions, but they would not survive 8) this ecosystem. These animals
9) but are not limited 10) Toucans, Parrots, Sloths, Orangutans,
Gorillas, and Lemurs.

1) a) viewed b) believed c) admitted d) impressed
2) a) species b) types c) kinds d) categories
3) a) fixed b) placed c) found d) located

4) a) sheer b) integral c) total d) full

5) a) At b) In c) By d) On

6) a) between b) centrally c) halfway d) within

7) a) own b) let c) allow d) support

8) a)in b) within c) out d) outside of
9) a) include b) exclude c) consist d) combine
10) a)in b) to c) at d) for
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Cast Il — Kulturné-historicky prehled (30 bod)

I. Spojte oba sloupce. (5 bod)
1. Mark Twain a) “I Have a Dream”
2. Martin Luther King b) The South
3. Herman Melville c) Beat Generation
4. William Faulkner d) Tom Sawyer
5. Allen Ginsberg e) Captain Ahab
1. 2...... 3. 4 5

Il. Zodpovézte nasledujici otazky.

1. What is the largest and the oldest national park in the USA? (2 body)
2. Frederick Douglass was (2 body)
a) afamous Black abolitionist b) the Northern Commander-in-Chief
c) the founder of the Ku Klux Klan d) the leader of a Black revolt in 1831
3. Who was the first president of the USA? (2 body)
4. What was the name of the American community established in 1620 by the Pilgrim

Fathers? (2 body)
5. What does the American Congress consist of? (2 body)
6. What are the two major political parties in Britain? (2 body)

a) Conservatives and Republicans b) Labour and Republicans
c) Liberals and Democrats d) Labour and Conservatives
7. Which part of the UK was most strongly against Brexit in the 2016 referendum? (2 body)
a) England b) Wales c) Scotland d) Northern Ireland



10.

11.

12.
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In which era of British history was Beowulf written? (2 body)
a) Celtic b) Anglo-Saxon c) Late Middle Ages d) Tudor times
Percy Bysshe Shelley is associated with (2 body)
a) Restoration drama b) Realism ¢) Romanticism d) Classicism
Who is Theresa May? (2 body)
a) the Scottish First Minister b) the Labour Party leader
c) the British Prime Minister d) the British Minister for Foreign Affairs
What is the capital of Wales? (2 body)
(3 body)

Give the names of the authors of these books.
Lady Chatterley’s Lover

1984
Lord of the Flies
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ANGLICKY JAZYK A LITERATURA / KLIC - TEST A

I. Jazykova kompetence (70 bodti)

I. Peclivé proctéte vySe uvedeny text a rozhodnéte, zda jsou uvedena tvrzeni pravdiva (P) nebo
nepravdiva (N). (3 body)

Il. Doplrite dle uvaZeni ¢len neurdity (a/an), uréity (the) nebo nulovy (0). Nevyplnéné pole je
automaticky povaZovano za nespravnou odpovéd. (8 bodti)

lll. Doplrite slova opaéného vyznamu — bud’ antonyma (napt. good — bad), nebo opozita odvozena
zapornymi pfedponami nebo pfiponami (nap¥. possible — impossible). Pouzijte vhodné vyrazy z nize
uvedené nabidky. (5 bodu)

IV. Preformulujte vétu tak, abyste pfi zachovani vyznamu mohli uZit trpny rod. Je-li tieba,
vyuZijte vhodnych vyrazli z textu (véta je zvyraznéna tucnym pismem). (2 body)
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V. Pfeformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit ¢inny rod. Je-li tfeba, vyuiijte
vhodnych vyrazli z textu (véta je zvyraznéna tuénym pismem). (2 body)

VI. PreloZte nasledujici véty do cestiny; berte pfitom v tivahu jejich kontext (véty jsou podtrieny v
tuvodnim textu). (4 body)

Vice President Mike Pence, who will kick off a 10-day trip to Asia in Seoul, South Korea on Sunday,
was also briefed within one hour of his departure.

Napfiklad: Viceprezident Mike Pence, ktery v ned@li v jihokorejském Soulu zahaji svou desetidenni

President Donald Trump has taken a more aggressive stance against North Korea and has
intensified his calls to “solve” problems with the country.

Napfiklad: Prezident Donald Trump zaujal viici Severni Koreji agresivnjsi postoj a stale silngji vola

VIl. Doplnte druhou vétu ve dvojici tak, aby méla v textu stejny, nebo témér stejny vyznam jako
véta prvni. Pouzijte dany vyraz, aniz byste zménili jeho tvar. (12 bodui)

1) The traffic was so bad that we missed the flight. SUCH

2) It would be a good idea if you went to the dentist. BETTER

3) Itis likely that she has been going through a difficult time. MUST

4) Peter took me to the station in his car. LIFT

5) John is going to speak at the conference. GIVE

6) |used to ride a motorbike, but | don’t anymore. LONGER

\o ‘
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VIIl. Doplrite vhodna slova do textu (vidy pouze 1 slovo) (8 bodui)

IX. Dopliite spravny tvar slovesa v zavorce. (8 bodii)

X. Vytvoite nova slova z vyrazli v zavorce — pouzijte pfipony a pfedpony. Vypliite vidy pouze 1
slovo). (8 bodui)
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Xl. Vyberte spravnou moznost. Mozné je vzdy pouze jedno feseni. (10 bodu)
10) B

Il. Kulturné-historicky pfehled (30 bodui)

1. Spojte oba sloupce. (5 bodti)

2. Zodpovézte nasledujici otazky. (25 bodui)
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Anglicky jazyk a literatura (jednooborové)

Zakladni statistické charakteristiky pisemné pfijimaci zkousky nebo jeji Casti:
Pocet uchazect, kteti se zucastnili pisemné ptijimaci zkousky: 72

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 86
Primérny vysledek pisemné piijimaci zkousky: 52.75

Smérodatna odchylka vysledkt pisemné pfijimaci zkousky: 15.35

Decilové hranice vysledku zkousky: -

dvouoborové:
Anglicky jazyk a literatura — Cesky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zacastnili pisemné pfijimaci zkousky: 13

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skuteéné dosazeny vysledek pisemné pfijimaci zkousky: 81
Praméry vysledek pisemné ptijimaci zkousky: 56.54

Smérodatna odchylka vysledkl pisemné piijimaci zkousky: 16.69

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Déjiny uméni a pamdtkova péce

Zakladni statistické charakteristiky pisemné ptijimaci zkouSky nebo jeji ¢asti:
Pocet uchazect, kteti se zaucastnili pisemné ptijimaci zkousky: 2

Nejlepsi mozny vysledek pisemné ptijimaci zkouSky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 68
Primérny vysledek pisemné ptijimaci zkousky: -

Smeérodatna odchylka vysledkt pisemné ptijimaci zkousky: 24.04

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Francouzsky jazyk a literatura

Zakladni statistické charakteristiky pisemné pfijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, ktefi se zacastnili pisemné piijimaci zkousky: 4

Nejlepsi mozny vysledek pisemné piijimaci zkouSky: 100

Nejlepsi skute¢né dosazeny vysledek pisemné piijimaci zkousky: 75
Primérny vysledek pisemné piijimaci zkousky: -

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 10.72

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Historie

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji Casti:
Pocet uchazect, kteti se zcastnili pisemné piijimaci zkousky: 6

Nejlepsi mozny vysledek pisemné piijimaci zkousky: 100

Nejlepsi skute¢né dosazeny vysledek pisemné piijimaci zkousky: 76
Primérny vysledek pisemné piijimaci zkousky: 50.67

Smérodatna odchylka vysledkl pisemné piijimaci zkousky: 14.69
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Decilové hranice vysledku zkousky: -
Anglicky jazyk a literatura — Latinsky jazyk a literatura

Zakladni statistické charakteristiky pisemné pfijimaci zkousky nebo jeji Casti:
Pocet uchazect, ktefi se zacastnili pisemné piijimaci zkousky: 2

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 88
Primérny vysledek pisemné ptijimaci zkousky: -

Smérodatna odchylka vysledki pisemné piijimaci zkousky: 34.65

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Némecky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zacastnili pisemné ptijimaci zkousky: 7

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skuteéné dosazeny vysledek pisemné ptijimaci zkousky: 81
Praméry vysledek pisemné ptijimaci zkousky: 58.43

Smérodatna odchylka vysledkl pisemné piijimaci zkousky: 13.93

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Polsky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zacastnili pisemné piijimaci zkousky: 1

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skuteéné dosazeny vysledek pisemné pfijimaci zkousky: 31
Priméry vysledek pisemné ptijimaci zkousky: -

Smérodatna odchylka vysledkl pisemné piijimaci zkousky: 0.0

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Psychologie

Zakladni statistické charakteristiky pisemné pfijimaci zkouSky nebo jeji ¢asti:
Pocet uchazeci, ktefi se zucastnili pisemné piijimaci zkousky: 7

Nejlepsi mozny vysledek pisemné piijimaci zkouSky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 49
Priméry vysledek pisemné ptijimaci zkousky: 41.86

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 8.34

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Rusky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zacastnili pisemné pfijimaci zkousky: 4

Nejlepsi mozny vysledek pisemné piijimaci zkousky: 100

Nejlepsi skute¢né dosazeny vysledek pisemné pifijimaci zkousky: 54
Primérny vysledek pisemné ptijimaci zkousky: -
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Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 9.18
Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Spanélsky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zicastnili pisemné piijimaci zkousky: 8

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné ptijimaci zkousky: 80
Priméry vysledek pisemné ptijimaci zkousky: 56.25

Smérodatna odchylka vysledkl pisemné ptijimaci zkousky: 20.64

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Zaklady spolecenskych véd

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazecu, kteti se zacastnili pisemné ptijimaci zkousky: 9

Nejlepsi mozny vysledek pisemné ptijimaci zkouSky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 78
Primérny vysledek pisemné ptijimaci zkousky: 55.56

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 14.01

Decilové hranice vysledku zkousky: -
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Test z Anglického jazyka a literatury - varianta B

Uplné zadani Zkusebnich otazek ¢i ptikladl, které jsou soucasti ptijimaci zkousky nebo
jeji Casti a u otdzek s vybérem odpoveédi spravné feseni.

Cast | — Test jazykové kompetence (70 bodi)

Recep Tayyip Erdogan: is he a threat to Turkish democracy?

Turkey votes today on whether to cement the power of a man revered by many, reviled and feared
by many others.

(1) boulevards of (2) Istanbul are lined with (3) posters backing both sides in
today’s knife-edge referendum on constitutional reform. Both camps — “evet” (yes in Turkish) and
“hayir” (no) — are convinced they hold (4) key to resolving (5) republic’s many

troubles.
But one image dominates (6) debate. Recep Tayyip Erdogan’s face is ubiquitous. In one poster,
his steady gaze is accompanied by the caption: “For (7) security, for (8) stability.”

Millions of Turks will head to the polls today to vote on a host of amendments that will transform the
nation from a parliamentary democracy into a presidential republic. Supporters of the bill say it will
lead to a strong Turkey that will no longer be hampered by messy coalition politics, able to take great
leaps of economic development and be freshly assertive on the world stage.

Opponents say it will set the stage for transforming the regime from a nominally democratic one
into an autocracy or even a dictatorship that rules by decree, cementing Erdogan’s hold on power
until 2029, because he will be able to remain in office until then if the referendum bill is approved
and he wins successive elections.

Erdogan has never lost an election during his extraordinary climb to power.

Born in 1954 in the impoverished and conservative neighbourhood of Kasimpasa in Istanbul to a sea
captain father, with family roots in Rize on the coast of the Black Sea, Erdogan entered politics early.
After studying at an imam Hatip school, a vocational religious institution, and after a stint playing
football for the local Kasimpasa team, he went on to study in Marmara University’s business
administration programme. He then joined the Islamist National Salvation party, heading its Istanbul
youth branch, before it was closed after the military coup in 1980.

After he joined the Welfare party of the Islamist prime minister Necmettin Erbakan in the 1980s, he
climbed the ladder in the party until he ran for the post of mayor of Istanbul, winning in 1994 and
instituting reforms that improved the quality of life in the city. His mayorship lasted four years, at the
end of which the Welfare party had been declared unconstitutional and banned.

(Source: The Guardian)

I. Peclivé proctéte vySe uvedeny text a rozhodnéte, zda jsou nasledujici tvrzeni pravdiva (P) nebo

nepravdiva (N). (3 body)
1) Recep Tayyip Erdogan is a supporter of the upcoming referendum. P/N
2) If the referendum bill is approved, Erdogan will stay in power until 2029. P/N
3) Asa member of the Welfare party, Erdogan ran for the post of Istanbul mayor. P/N
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Il. Doplrite dle uvaZeni élen neurdity (a/an), uréity (the) nebo nulovy (0). Nevyplnéné pole je
automaticky povaZovano za nespravnou odpovéd. (8 bodui)

(1) boulevards of (2) Istanbul are lined with (3) posters backing both sides in
today’s knife-edge referendum on constitutional reform. Both camps — “evet” (yes in Turkish) and
“hayir” (no) — are convinced they hold (4) key to resolving (5) republic’'s many

troubles.
But one image dominates (6) debate. Recep Tayyip Erdogan’s face is ubiquitous. In one poster,
his steady gaze is accompanied by the caption: “For (7) security, for (8) stability.”

Ill. Doplnte slova opacného vyznamu — bud’ antonyma (napf. good — bad), nebo opozita odvozena
zapornymi pfedponami nebo pfriponami (napf. possible — impossible). Pouzijte vhodné vyrazy z nize
uvedené nabidky. (5 bodui)

1) security —

2) approve —

3) extraordinary —

4) conservative —

5) join —

democratic — unsecurity — enjoin — traditional — insureness — insecurity - refuse — accept — prove —
casualty — rectangular — common — progressive — close — leave

IV. Preformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit trpny rod. Je-li tfeba, vyuzijte
vhodnych vyrazi z textu (véta je zvyraznéna tucnym pismem). (2 body)

It will set the stage for transforming the regime from a nominally democratic one into an

autocracy.

V. Pfreformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit ¢inny rod. Je-li tfeba, vyuzijte
vhodnych vyrazi z textu (véta je zvyraznéna tuénym pismem). (2 body)

The Welfare party had been declared unconstitutional and banned.

VI. Pfelozte nasledujici véty do cesStiny; berte pfitom v uvahu jejich kontext (véty jsou podtrzeny v
uvodnim textu). (4 body)

Erdogan has never lost an election during his extraordinary climb to power.
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He then joined the Islamist National Salvation party, heading its Istanbul youth branch, before it

was closed after the military coup in 1980.

VII. Doplite druhou vétu ve dvojici tak, aby méla v textu stejny, nebo téméf stejny vyznam jako

véta prvni. Pouiijte dany vyraz, aniz byste zménili jeho tvar. (12 bodti)
1) The war brought total destruction to the city. DESTROYED
2) Sheis a completely reliable person. COUNT
You
3) We were forced to return because the road was blocked. TURN
We had
4) 1think the castle was built in the twelfth century. MIGHT
The castle
5) Millions of people in the world speak English. SPOKEN
6) They accused him of murder. CHARGED
He
VIll. Dopliite vhodna slova do textu (vidy pouze 1 slovo). (8 bodi1)

My early driving experience

My most unfortunate driving experience happened ages 1)

, before I'd actually

passed my driving test. My girlfriend's father used to let her borrow his car whenever we were going

2) the cinema or something. Anyway, I'd 3)

thinking about learning

to drive and | persuaded her to let 4) have a go. We took the car down to the beach

17



Anglicky jazyk a literatura 2017

on the sand 5) no one could see us and she let me take the wheel. We were having 6)
fun that we didn't notice the tide was coming in until the car was actually swimming
in the water. We had to leave the car where it was and catch the bus back to tell her dad. By the 7)
the three of us returned, the car was 8) covered in water. Needless
to say, her father wasn't too pleased. The funny thing is her dad ended up selling me the car after |
passed my test.

IX. Dopliite spravny tvar slovesa v zavorce. (8 bodti)
Alex (1) (drop) Lisa outside her house at eight. They (2)

(spend) the day at the beach and Lisa (3) (want) a
quick shower before they (4) (go out) again for the evening. However, as she
(5) (walk) towards the front door, she (6) (realize)
with horror that she (7) (left) her keys inside. What (8)

(she/ be going to do) ?

X. Vytvoite nova slova z vyrazll v zavorce — pouZijte pfipony a predpony. Vypliite vidy pouze 1
slovo). (8 bodu)

New signings for football club

The local pigeons haven’t been on the 1) (win) side since the 2) (arrive)

of a team of cardboard cats at Torquay United football club. Torquay had already tried a 3)
(various) of methods to stop the birds eating the 4) (recent) seeded

pitch, but they were all 5) (success) or, in the case of shooting or poisoning,

considered 6) (accept) alternatives. The cats, a club official’s idea, proved to be the 7)
(solve). They have been especially effective in the goalmouths, where the 8)
(concentrate) of seeds is most tempting.

Xl. Vyberte spravnou moznost. Mozné je vZzdy pouze jedno feseni. (10 bodu)

Amazon River

The Amazon River 1) among the largest rivers in the world, 2) to the
Nile in Egypt. Some scientists 3) that at one time, the Amazon River flowed westward
and emptied into the Pacific Ocean. Today, many rivers 4) into the Amazon River as it
flows eastward into the Atlantic. The Amazon River is so large that it is estimated that one-fifth of
5) fresh water 6) into the ocean is supplied 7) it. At
times during the wet season, the Amazon River can be over 30 miles wide. Many 8) of
animals depend 9) the river, and some live in it, 10) Manatees and
Piranhas.

1) a) regards b) ranks c) includes d) puts

2) a) comparable b) equal ¢) incomparable d) according

3) a) consider b) predict c) believe d) pretend

4) a) flame b) flush c) drain d) leak

5) a) both b) some c) total d) all
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6) a) carried b) sent ¢) imported
7) a) outside of b) in c) by

8) a) categories b) types c) kinds

9) a) on b) up to c) from

10) a) excluding b) including c) consisting

Cast Il — Kulturné-historicky pfehled (30 bodi)
I. Spojte oba sloupce.

1. Mark Twain

2. Bessie Smith

3. Joseph Heller
4. Walt Whitman
5

Edgar Allan Poe

Il. Zodpovézte nasledujici otazky.
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d) given
d) from
d) species
d) at

d) combining

(5 bodui)
a) Catch-22
b) blues
c¢) Roderick Usher
d) Huckleberry Finn

e) free verse

1. What is the name of the tall white marble monument on The Mall in Washington, D.C.? (2 b.)

2. Arthur Miller was (2 body)
a) asinger b) an astronaut  c) a dramatist d) the Southern Commander-in-Chief
3. When did Christopher Columbus land on the Bahama Islands? (2 body)
4. In which year did the Boston Tea Party happen? (2 body)
5. What is the name of the oldest university in the USA? (2 body)
6. What are the two chambers of the British Parliament? (2 body)
a) the Senate and the House of Lords b) the House of Commons and the House of Lords
c¢) Congress and the House of Lords d) the House of Representatives and the House of Lords
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7. Which part of Britain organized a referendum on independence in 2014? (2 body)

a) England b) Wales c) Scotland

8. In which era of British history was The Canterbury Tales written?

a) Anglo-Saxon b) Late Middle Ages c) Tudor times

9. Charles Dickens is associated with

a) Restoration drama b) Realism ¢) Romanticism

10. What is the name of the current British Prime Minister?

a) Nicola Sturgeon b) David Cameron c) Boris Johnson

11. What is the capital of Scotland?

12. Give the names of the authors of these books.

Oliver Twist

Animal Farm

The Songs of Innocence
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d) Northern Ireland

(2 body)

d) the Victorian era

(2 body)

d) Classicism

(2 body)
d) Theresa May

(2 body)

(3 body)
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ANGLICKY JAZYK A LITERATURA / KLIiC - TEST B

I Jazykova kompetence (70 bodi)

I. Peclivé proctéte vySe uvedeny text a rozhodnéte, zda jsou uvedena tvrzeni pravdiva (P) nebo
nepravdiva (N). (3 body)

Il. Doplrite dle uvaZeni ¢élen neurdity (a/an), uréity (the) nebo nulovy (0). Nevyplnéné pole je
automaticky povaZovano za nespravnou odpovéd. (8 bodui)

lll. Doplrite slova opaéného vyznamu — bud’ antonyma (napt. good — bad), nebo opozita odvozena
zapornymi pfedponami nebo pfiponami (napf. possible — impossible). Pouzijte vhodné vyrazy z nize
uvedené nabidky. (5 bodui)

IV. Preformulujte vétu tak, abyste pti zachovani vyznamu mohli uzit trpny rod. Je-li tieba, vyuzijte
vhodnych vyrazli z textu (véta je zvyraznéna tu¢nym pismem). (2 body)
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V. Pfeformulujte vétu tak, abyste pii zachovani vyznamu mohli uZit ¢inny rod. Je-li tfeba, vyuZijte
vhodnych vyrazli z textu (véta je zvyraznéna tuénym pismem). (2 body)

VI. PreloZte nasledujici véty do cestiny; berte pfitom v tuvahu jejich kontext (véty jsou podtrieny v
tuvodnim textu). (4 body)

Erdogan has never lost an election during his extraordinary climb to power.

Napfiklad: B&hem své neobvyklé cesty k moci Erdogan neprohral jediné volby.

He then joined the Islamist National Salvation party, heading its Istanbul youth branch, before it
was closed after the military coup in 1980.

Napfiklad: Posléze vstoupil do strany Islamska narodni spasa a ved jeji istanbulskou organizaci

VII. Dopliite druhou vétu ve dvojici tak, aby méla v textu stejny, nebo témér stejny vyznam jako
véta prvni. Pouzijte dany vyraz, aniz byste zménili jeho tvar. (12 bodu)

1) The war brought total destruction to the city. DESTROYED

2) Sheis a completely reliable person. COUNT

3) We were forced to return because the road was blocked. TURN

4) 1think the castle was built in the twelfth century. MIGHT

5) Millions of people in the world speak English. SPOKEN

6) They accused him of murder. CHARGED

VIIl. Dopliite vhodna slova do textu (vZdy pouze 1 slovo). (8 bodui)
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IX. Dopliite spravny tvar slovesa v zavorce. (8 bod(i)

X. Vytvofte nova slova z vyrazli v zavorce — pouzijte pfipony a predpony. Vypliite vidy pouze 1
slovo).
(8 bodii)

(10 bodii)
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Kulturné-historicky prehled (30 bodui)

I. Spojte oba sloupce. (5 bod)

Il. Zodpovézte nasledujici otazky. (25 boda)

Anglicky jazyk a literatura (jednooborové)

Zékladni statistické charakteristiky pisemné pfijimaci zkousky nebo jeji ¢asti:
Pocet uchazecu, ktefi se zacastnili pisemné ptijimaci zkousky: 80

Nejlepsi mozny vysledek pisemné piijimaci zkouSky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 86
Priméry vysledek pisemné ptijimaci zkouSky: 56.35

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 14.72

Decilové hranice vysledku zkousky: -

dvouoboroveé:
Anglicky jazyk a literatura — Cesky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji Casti:
Pocet uchazect, kteti se ztcastnili pisemné piijimaci zkousky: 14

Nejlepsi mozny vysledek pisemné piijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné ptijimaci zkousky: 80
Primérny vysledek pisemné pfijimaci zkousky: 54.93

Smérodatna odchylka vysledkt pisemné pfijimaci zkousky: 15.25

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Déjiny uméni a pamatkova péce
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Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji Casti:
Pocet uchazect, kteti se ztucastnili pisemné ptijimaci zkousky: 2

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 63
Primérny vysledek pisemné ptijimaci zkousky: -

Smeérodatna odchylka vysledkt pisemné ptijimaci zkousky: 12.02

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Francouzsky jazyk a literatura

Zakladni statistické charakteristiky pisemné pfijimaci zkousky nebo jeji Casti:
Pocet uchazec, kteti se zacastnili pisemné ptijimaci zkousky: 8

Nejlepsi mozny vysledek pisemné piijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 79
Primérny vysledek pisemné ptijimaci zkousky: 64.25

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 11.65

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Historie

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zacastnili pisemné piijimaci zkousky: 8

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skuteéné dosazeny vysledek pisemné ptijimaci zkousky: 78
Pramérmy vysledek pisemné ptijimaci zkousky: 65.13

Smérodatna odchylka vysledkl pisemné piijimaci zkousky: 14.96

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Némecky jazyk a literatura

Zakladni statistické charakteristiky pisemné pfijimaci zkouSky nebo jeji €asti:
Pocet uchazect, kteti se zucastnili pisemné ptijimaci zkousky: 6

Nejlepsi mozny vysledek pisemné piijimaci zkouSky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 81
Priméry vysledek pisemné pfijimaci zkousky: 65.0

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 18.61

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Psychologie

Zakladni statistické charakteristiky pisemné ptijimaci zkouSky nebo jeji €asti:
Pocet uchazect, kteti se zucastnili pisemné piijimaci zkousky: 10

Nejlepsi mozny vysledek pisemné piijimaci zkousky: 100

Nejlepsi skute¢né dosazeny vysledek pisemné piijimaci zkousky: 66
Primémy vysledek pisemné pfijimaci zkousky: 52.3

Smérodatna odchylka vysledkl pisemné piijimaci zkousky: 10.52

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Rusky jazyk a literatura

Zakladni statistické charakteristiky pisemné pfijimaci zkouSky nebo jeji ¢asti:
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Pocet uchazeci, kteti se zicastnili pisemné piijimaci zkousky: 4
Nejlepsi mozny vysledek pisemné piijimaci zkouSky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 77
Primérny vysledek pisemné pfijimaci zkousky: -

Smérodatna odchylka vysledkt pisemné piijimaci zkousky: 16.15
Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Spanélsky jazyk a literatura

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zicastnili pisemné piijimaci zkousky: 8

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné ptijimaci zkousky: 70
Pramérny vysledek pisemné ptijimaci zkousky: 54.25

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 10.77

Decilové hranice vysledku zkousky: -

Anglicky jazyk a literatura — Zaklady spolecenskych véd

Zakladni statistické charakteristiky pisemné ptijimaci zkouSky nebo jeji ¢asti:
Pocet uchazect, kteti se zucastnili pisemné pfijimaci zkousky: 10

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné piijimaci zkousky: 77
Primérny vysledek pisemné ptijimaci zkousky: 55.6

Smérodatna odchylka vysledkt pisemné ptijimaci zkousky: 12.07

Decilové hranice vysledku zkousky: -
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Test z Anglicky jazyk a literatura - varianta C

Uplné zadani ZkuSebnich otazek ¢i ptiklada, které jsou soucasti piijimaci zkousky nebo
jeji casti a u otazek s vybérem odpovédi spravné fesent.

Cast | — Test jazykové kompetence (70 bodi)

Theresa May’s Conservatives are 21 points ahead of Labour in new poll

Theresa May’s Conservatives are 21 points ahead of Labour in a new poll, giving the party their
greatest lead while in government since 1983, shortly before Margaret Thatcher’s second victory at
the ballot box.

The poll, conducted by ComRes for The Independent, gives the Tories 46 per cent of the vote share,
25 per cent for Labour, 11 per cent for Tim Farron’s pro-EU Liberal Democrats and 9 per cent for the
embattled UKIP under Paul Nuttall’s leadership.

According to historic data on (1) UK Polling Report, it is (2) highest lead for any party

since May 2009, when three polls gave David Cameron (3) 22-point lead. That was (4)
greatest lead for (5) party in government since July 2001, when Labour had (6) 21-
point lead under Tony Blair, who enjoyed three consecutive victories at (7) ballot box. It is

(8) biggest lead for a Conservative party in government since 1983.

The historic lead will undoubtedly come as a fresh blow to Jeremy Corbyn’s party, which has been
languishing in the polls since Ms May entered Downing Street last summer and the overwhelming
vote of no confidence in his leadership by his own parliamentary colleagues. Rarely has the party
been fewer than 10 points behind their Conservative rivals in this period.

But it also comes as further polling showed Mr Corbyn’s policy blitz during the parliamentary recess
— including free school meals for all children by forcing private schools to pay VAT — is supported by
the majority of the British public. The poll also suggests that association with the leader has little, if
any, impact on the public’s perceptions of the Labour party’s current policy agenda.

Responding to the polls, the Labour leader told The Independent: “Our policies are popular because
to _most people it’s common sense that our Government should act in the interests of the
overwhelming majority and that will mean taking on the powerful.

“The people of Britain have been held back too long, but we have the ideas and the will to change
the country for the better. There’s so much more to come and as the party comes together to
campaign for these popular policies, we are convinced our support in the polls will increase.”

(Source: The Independent)

I. Peclivé proctéte vySe uvedeny text a rozhodnéte, zda jsou nasledujici tvrzeni pravdiva (P) nebo

nepravdiva (N). (3 body)
1 The current Tory lead is the greatest for any party in power since 1983. P/N
2 The poll shows that Corbyn is not entirely to blame for his party’s unpopularity. P/N
3 Corbyn states his party defends the interests of most British people. P/N
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Il. Doplrite dle uvaZeni élen neurdity (a/an), uréity (the) nebo nulovy (0). Nevyplnéné pole je
automaticky povaZovano za nespravnou odpovéd. (8 bodui)

According to historic data on (1) UK Polling Report, it is (2) highest lead for any party

since May 2009, when three polls gave David Cameron (3) 22-point lead. That was (4)

greatest lead for (5) party in government since July 2001, when Labour had (6) 21-

point lead under Tony Blair, who enjoyed three consecutive victories at (7) ballot box. It is
(8) biggest lead for a Conservative party in government since 1983.

Ill. Doplnte slova opacného vyznamu — bud’ antonyma (napf. good — bad), nebo opozita odvozena
zapornymi pfedponami nebo pfriponami (napt. possible — impossible). Pouzijte vhodné vyrazy z nize
uvedené nabidky. (5 bodui)

1) historic —

2) enter-—

3) popular-

4) powerful —

5) increase —

traditional — decrease — inpopular — present — leave — come — arrive - unpopular — private —
uncompetent — ill - weak — decease — rise

IV. Pfreformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit trpny rod. Je-li tfeba, vyuzijte
vhodnych vyrazi z textu (véta je zvyraznéna tuénym pismem). (2 body)

The poll gives the Tories 46 per cent of the vote share.

V. Pfreformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit ¢inny rod. Je-li tfeba, vyuzijte
vhodnych vyrazi z textu (véta je zvyraznéna tuénym pismem). (2 body)

Mr Corbyn’s policy blitz during the parliamentary recess is supported by the majority of the
British public.

VI. Pfelozte nasledujici véty do cesStiny; berte pfitom v uvahu jejich kontext (véty jsou podtrzeny v
uvodnim textu). (4 body)

Rarely has the party been fewer than 10 points behind their Conservative rivals in this period.
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Our policies are popular because to most people it’s common sense that our Government should
act in the interests of the overwhelming majority and that will mean taking on the powerful.

VII. Doplnte druhou vétu ve dvojici tak, aby méla v textu stejny, nebo témér stejny vyznam jako
véta prvni. Pouzijte dany vyraz, aniZ byste zménili jeho tvar.

(12 bodui)

1) He never asks when he borrows my things! ALWAYS
He is

2) When | was younger we often used to go on holidays abroad. WOULD
3) 1 ought to call my mum. BETTER
4) His exam mark was such a disappointment. SO

He

5) 1lwasn’t allowed to watch much TV when | was a child. LET

My parents

6) |don’t think | am strong enough to lift it. HAVE

VIII. Dopliite vhodna slova do textu (vZdy pouze 1 slovo). (8 bodui)

My early driving experience

| didn't start learning to drive until | was twenty-one. I'd spent lots of money (1)

lessons but | was a terrible driver, | (2) admit. The first time | took my driving test
nobody expected (3) to pass. But after failing another four times the pressure was
really on. | took my test for a sixth time and failed (4) again, but | was (5)

embarrassed to admit it to my family, so | just pretended that I'd passed after all. My
family were delighted and my mother went out and bought me a car the next day. | didn't know (6)
to do so | just got in and drove. | continued to drive - illegally - (7)
three months. Fortunately | was never stopped (8) __ the police and the next time |
took my driving test | passed.

IX. Dopliite spravny tvar slovesa v zavorce. (8 bodi)

The local pigeons (1) (not be) on the winning side since the
arrival of a team of cardboard cats at Torquay United football club. Torquay (2)
(already try) various methods to stop the birds from eating
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the recently seeded pitch, but they (3) (be) all unsuccessful
or, in the case of shooting or poisoning, considered unacceptable alternatives. The cats (4)

(prove) to be the solution. They (5)
(be) especially effective in the goalmouths, where the

concentration of seeds (6) (be) most tempting. The presence
of lifelike models (7) (make) the pigeons keep their distance.
The cats (8) (turn out) to be bargain signings.

X. Vytvorte nova slova z vyrazli v zavorce — poutZijte pFipony a predpony. Vypliite vidy poue 1

slovo). (8 bodu1)

Free-diving

Former swimming 1) (instruct) Tanya Streeter has achieved what many thought was 2)
(possible) and dived to 370 feet below the sea on a single lungful of air. 3)
(compete) in free-diving take a deep breath before 4) (appear) into the

depths of the ocean. Rigorous training has helped Tanya to go deeper than male 5)

(dive) and break one of the most difficult diving records. Free-diving is a dangerous sport. Deaths are

frequent and it is not 6) (common) to pass out or have a nose bleed on the descent.

Tanya, who can hold her breath for five minutes underwater, says that many men tried to 7)
(courage) her from attempting to break the record. “They all said it was 8)
(likely) that a woman could reach such depths without breathing equipment.”

Xl. Vyberte spradvnou moznost. Mozné je vZzdy pouze jedno feseni. (10 bod)

Amazon Rainforest

The Amazon Rainforest is the 1) rainforest in the world. The Amazon Rainforest is
2) great significance to the climate of the world because it 3) very
large amounts of carbon dioxide present in the 4) . 5) its large size, it
is also the most subject to deforestation. Uses of cleared Amazon Rainforest land include growing
crops and 6) cattle. As more rainforest is cut 7) for these purposes,
the Amazon will be less capable 8) absorbing carbon dioxide and 9)

greenhouse gases. The Amazon Rainforest is also home to many 10) animals.

1) a) bigger b) largest c) great d) impressive

2) a) of b) the c) most d) far

3) a) makes b) eats c) absorbs d) takes in

4) a) heavens b) Earth c) atmosphere d) sky

5) a) As b) Although c) Because d) Due to

6) a) raising b) cultivating c) producing d) rising

7) a) away b) out c) down d) there

8) a)to b) without c) for d) of

9) a) other b) another c) others d) more
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10) a) lonely b) unique c) weird d) funny

Cast Il — Kulturné-historicky prehled (30 bod)

1
2
3.
4
5

1

I
1

Spojte oba sloupce. (5 bodui)
. Francis S. Fitzgerald a) Moby Dick
Herman Melville b) Jay Gatsby
James Fenimore Cooper c) Harry “Rabbit” Angstrom
Johnny Cash d) The Last of the Mohicans
John Updike e) country and western music
....... 2...... 3. 4... 5.
. Zodpovézte nasledujici otazky. (25 bodi)

. What is the name of the tallest skyscraper in New York City?

. Woodrow Wilson was an American

a) singer b) president c) painter d) businessman

. What was the name of the first permanent English settlement in America, founded in 16077

. What was the name of the first American transcontinental railway, finished in 18697

. What are the two major political parties in the USA?

. Which of these political parties won the general election in the UK on 8 June?

a) Labour b) Republicans c) Liberal Democrats  d) Conservatives

What percentage of voters voted for the UK to leave the EU in the 2016 referendum on Brexit?

a) 32% b) 52% c) 72% d) 92%

In which era of British history was Romeo and Juliet written?

a) Anglo-Saxon b) Late Middle Ages  c) Tudor times d) the Victorian era

Virginia Woolf is associated with

31



a) Restoration drama b) Realism ¢) Romanticism

10. What is the name of the Scottish First Minister?

a) Nicola Sturgeon b) David Cameron c) Boris Johnson
11. What is the capital of Northern Ireland?
12. Give the names of the authors of these books.

Robinson Crusoe

The Picture of Dorian Gray

Pygmalion
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d) Modernism

d) Theresa May
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ANGLICKY JAZYK A LITERATURA — TEST C (klic
Jazykova kompetence (70 bodi)

I. Peclivé proctéte vySe uvedeny text a rozhodnéte, zda jsou uvedena tvrzeni pravdiva (P) nebo
nepravdiva (N). (3 body)

Il. Dopliite dle uvazeni ¢len neurcity (a/an), uréity (the) nebo nulovy (0). Nevyplnéné pole je
automaticky povaZovano za nespravnou odpovéd. (8 bodti)

lll. Doplrite slova opacného vyznamu — bud’ antonyma (napt. good — bad), nebo opozita odvozena
zapornymi predponami nebo pfiponami (napt. possible — impossible). Pouzijte vhodné vyrazy z nize
uvedené nabidky. (5 bodui)
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IV. Preformulujte vétu tak, abyste pfi zachovani vyznamu mohli uzit trpny rod. Je-li tfeba, vyuzijte
vhodnych vyrazli z textu (véta je zvyraznéna tuénym pismem). (2 body)

V. Preformulujte vétu tak, abyste pti zachovani vyznamu mohli uzit ¢inny rod. Je-li tieba, vyuzijte
vhodnych vyrazli z textu (véta je zvyraznéna tuénym pismem). (2 body)

VI. PreloZte nasledujici véty do cestiny; berte pfitom v tivahu jejich kontext (véty jsou podtrzeny v
uvodnim textu). (4 body)

Rarely has the party been fewer than 10 points behind their Conservative rivals in this period.

Napfiklad: V tomto obdobi se zfidkakdy stalo, Ze by (labouristickd) strana zaostévala za svymi

Our policies are popular because to most people it's common sense that our Government should
act in the interests of the overwhelming majority and that will mean taking on the powerful.

Napfiklad: Nase programové navrhy jsou populérni, protoZe pro mnoho lidi odpovida zdravému

VII. Dopliite druhou vétu ve dvojici tak, aby méla v textu stejny, nebo témér stejny vyznam jako
véta prvni. Pouzijte dany vyraz, aniz byste zménili jeho tvar. (12 bodti)

1) He never asks when he borrows my things! ALWAYS

2) When | was younger we often used to go on holidays abroad. WOULD

3) | ought to call my mum. BETTER

4) His exam mark was such a disappointment. SO

5) 1 wasn’t allowed to watch much TV when | was a child. LET

6) 1don’t think I am strong enough to lift it. HAVE
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VIIl. Dopliite vhodna slova do textu (vidy pouze 1 slovo). (8 bodui)

(8 bodui)
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X. Vytvoite nova slova z vyrazli v zavorce — pouzijte pfipony a pfedpony. Vypliite vidy pouze 1
slovo). (8 bodi1)
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Xl. Vyberte spravnou moznost. MoZné je vidy pouze jedno feseni. (10 bodu)
Il. Kulturné-historicky prehled (30 bodui)
1. Spojte oba sloupce. (5 bodti)

2. Zodpovézte nasledujici otazky. (25 bod)
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Anglicky jazyk a literatura (jednooborové)

Zakladni statistické charakteristiky pisemné ptijimaci zkousky nebo jeji ¢asti:
Pocet uchazeci, kteti se zicastnili pisemné piijimaci zkousky: 4

Nejlepsi mozny vysledek pisemné ptijimaci zkousky: 100

Nejlepsi skutecné dosazeny vysledek pisemné pfijimaci zkousky: 71
Primérny vysledek pisemné ptijimaci zkousky: -

Smérodatna odchylka vysledkt pisemné pfijimaci zkousky: 10.9

Decilové hranice vysledku zkousky: -

Ostrava 21. ¢ervna 2017

Zpracovali: Mgr. Andrea HoleSové, Ph.D., Bc. Petra Valoskova

Za spravnost odpovida: Mgr. Andrea HoleSova, Ph.D.
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